Zeitschrift für angewandte Mathematik und Physik ZAMP

Non-uniform dependence on initial data for the $\mu-b$ equation

Guangying Lv, Peter Y. H. Pang and Mingxin Wang

Abstract. This paper is concerned with the non-uniform dependence on initial data for the $\mu-b$ equation on the circle. Using the approximate solution method, we construct two solution sequences to show that the data-to-solution map of the Cauchy problem of the $\mu-b$ equation is not uniformly continuous in $H^s(\mathbb{S})$.

Mathematics Subject Classification (2000). 35G25 · 35B30 · 35L05.

Keywords. Non-uniform dependence on initial data $\cdot \mu - b$ equation \cdot Energy estimates.

1. Introduction

The *b*-equation [4, 5, 11]

$$u_t - u_{xxt} + u(u_x - u_{xxx}) + bu_x(u - u_{xx}) = 0, (1.1)$$

which in fact comprises a family of equations parameterized by the real value b, models wave phenomena in shallow fluid flow, and has been the subject of considerable interest both to mathematicians and physicists. When b = 2 and 3, respectively, (1.1) reduces to the well-known Camassa-Holm (CH) [1] and Degasperis-Procesi (DP) [5] equations, which have interesting connections with the Korteweg-deVries (KdV) equation and have been extensively studied, particularly from the point of view of integrability and geodesic flow on infinite dimensional Lie groups. The Cauchy problem of the *b*-equation, and in particular its well-posedness and blow-up behavior, has also been well-studied both on the real line and on the circle, see for example [3, 6, 22, 23, 25].

In [17], Khesin et al. studied a generalization of the Hunter–Saxton (HS) [12] equation, which is a high-frequency limit of the CH equation and introduced the μ –HS equation. The μ –HS equation, which is now more commonly referred to as the μ –CH equation, describes the propagation of weakly nonlinear orientation waves in a massive nematic liquid crystal with external magnetic field and selfinteraction. It was also shown in [17] that the μ –CH equation on the circle is formally integrable, admits a bi-Hamiltonian structure and an infinite hierarchy of conservation laws, and is an Euler equation for geodesic flow on the Lie group of circle diffeomorphisms. Subsequently, in addition to μ –CH, Lenells et al. [20] also introduced the μ –DP as well as μ –Burgers equations, and the μ –b equation (see also [19]).

In this paper, we consider the Cauchy problem for the (spatially) periodic μ -b equation:

$$\begin{cases} \mu(u_t) - u_{xxt} - uu_{xxx} + bu_x(\mu(u) - u_{xx}) = 0, & t > 0, \quad x \in \mathbb{S}^1, \\ u(0, x) = u_0(x), & x \in \mathbb{S}^1, \end{cases}$$
(1.2)

The first author was partially supported by NSFC Grants 11071049 and 11226168; the second author was partially supported by the NUS AcRF Grant R-146-000-123-112; and the third author was partially supported by NSFC Grant 11071049

where b is a real constant, u = u(t, x) is a time-dependent function on the unit circle $\mathbb{S}^1 = \mathbb{R}/\mathbb{Z} \simeq [0, 1)$, and $\mu(u) = \int_{\mathbb{S}^1} u(t, x) dx$ denotes the mean value of u. We note that under spatial periodicity, $\mu(u_t) = 0 = \mu(u_x)$.

In the case b = 2 and 3, respectively, the μ -b equation reduces to the μ -CH and μ -DP equations. In addition, if $\mu(u) = 0$, they reduce to the HS and μ -Burgers equations, respectively.

The local well-posedness of the μ -CH and μ -DP Cauchy problems have been studied in [17] and [20]. Recently, Fu et al. [7] described precise blow-up scenarios for μ -CH and μ -DP.

Our attention in this paper is on the dependence on initial data. Himonas et al. [8,9] showed that solutions of the CH equation on the real line as well as on the circle do not depend uniformly on the initial data. They made use of the method of approximate solutions [2, 10, 16, 18].

Our work has been inspired by [8,9]. We show non-uniform dependence on initial data of (1.2) by constructing two sequences of solutions in a bounded subset of the Sobolev space $H^s(\mathbb{S}^1)$, whose distance converges to zero at t = 0 but is bounded below by a positive constant at any later time. We remark that, unlike the *b*-equation case, the method of [9] does not apply in a straightforward manner to the $\mu-b$ equation. To be more specific, for the *b*-equation, one only needs to estimate the H^{σ} -norm $(1/2 < \sigma < 1)$ of the difference between approximate and actual solutions (as in [13]). For $\mu-b$, however, we need to treat the cases b = 3 and $b \neq 3$ separately and estimate the H^{σ} -norm $(1/2 < \sigma < 1)$ and H^1 -norm of the difference, respectively, (see Sect. 3.2 for details). Unfortunately, when $b \neq 3$, we are not yet able to obtain the non-uniform dependence on the initial data for (1.2) with 3/2 < s < 2 and will study it in a separate paper. We further remark that we have come to be aware that a similar method has been employed to study the non-uniform dependence problem for the *b*-equation by Yan Li [21].

This paper is organized as follows: In Sect. 2, we recall the well-posedness results of [17] and [20]. We will establish an energy estimate and use it to derive a lower bound for the lifespan of the solution as well as an estimate of the $H^s(\mathbb{S}^1)$ norm of the solution u(t,x) in terms of that of the initial data u_0 . In Sect. 3, we consider approximate solutions and estimate their errors in the H^{σ} -norm $(1/2 < \sigma \leq 1)$ in satisfying the equation (1.2). Further, we estimate the difference between the approximate and actual solutions with the same initial data. The proof of the main result is given in Sect. 4.

In this paper, the symbols \leq , \approx and \geq are used to denote inequality/equality up to a positive universal constant. For example, $f(x) \leq g(x)$ means that $f(x) \leq cg(x)$ for some positive universal constant c. Since all spaces of functions are over \mathbb{S}^1 , the reference to \mathbb{S}^1 will be dropped if no ambiguity arises. [A, B] = AB - BA denotes the commutator of linear operators A and B.

2. Local well-posedness

As $\mu(u_x) = 0$ under spatial periodicity, we can re-write (1.2) as follows:

$$\begin{cases} u_t + uu_x = -\partial_x A^{-1} \left(b\mu(u)u + \frac{3-b}{2}u_x^2 \right), & t > 0, \ x \in \mathbb{S}^1, \\ u(0,x) = u_0(x), & x \in \mathbb{S}^1, \end{cases}$$
(2.1)

where $A = \mu - \partial_x^2$ is an isomorphism between $H^s(\mathbb{S}^1)$ and $H^{s-2}(\mathbb{S}^1)$ with the inverse $v = A^{-1}u$ given by

$$v(x) = \left(\frac{x^2}{2} - \frac{x}{2} + \frac{13}{12}\right)\mu(u) + (x - 1/2)\int_0^1 \int_0^y u(s)dsdy$$
$$-\int_0^x u(s)dsdy + \int_0^1 \int_0^y \int_0^s u(r)drdsdy.$$

Since A^{-1} and ∂_x commute, the following identities hold as follows:

$$A^{-1}\partial_x u(x) = (x - 1/2) \int_0^1 u(x) dx - \int_0^x u(y) dy + \int_0^1 \int_0^x u(y) dy dx,$$
(2.2)

$$A^{-1}\partial_x^2 u(x) = -u(x) + \int_0^1 u(x) \mathrm{d}x.$$
 (2.3)

It is easy to show that $\mu(A^{-1}\partial_x u(x)) = 0.$

We recall the following local well-posedness result:

Proposition 2.1. [20, Theorem 5.5] Let $u_0 \in H^s$, s > 3/2. Then, there exist a maximal existence time $T = T(||u_0||_{H^s}) > 0$ and a unique solution u to (2.1) such that

$$u = u(\cdot, u_0) \in C([0, T); H^s) \cap C^1([0, T); H^{s-1}).$$

Moreover, the solution depends continuously on the initial data, that is, the map

$$u_0 \mapsto u(\cdot, u_0) : H^s \to C([0, T); H^s) \cap C^1([0, T); H^{s-1})$$

is continuous.

Remark 2.1. The maximal existence time T > 0 in Proposition 2.1 is independent of the Sobolev index s > 3/2; this can be proved using the Kato method [14], as in [24].

Next, we will give an explicit lower bound for the maximal existence time T with respect to the H^s -norm of the initial data. We will also give an estimate of the solution size and show that the H^s -norm of the solution is dominated by that of the initial data.

Lemma 2.1. Let s > 3/2 and let u be the solution of (2.1) with initial data u_0 described in Proposition 2.1. Then, the maximal existence time T satisfies

$$T \ge T_0 := \frac{1}{2C_s \|u_0\|_{H^s}},\tag{2.4}$$

where C_s is a constant depending only on s. Also, we have

$$\|u(t)\|_{H^s} \le 2\|u_0\|_{H^s}, \quad 0 \le t \le T_0.$$
(2.5)

Proof. First, we note that $\mu(u) = \mu(u_0) = \mu_0$. The proof of the lemma is based on the following differential inequality for the solution u:

$$\frac{1}{2} \frac{\mathrm{d}}{\mathrm{d}t} \|u(t)\|_{H^s}^2 \le C_s \|u(t)\|_{H^s}^3, \qquad 0 \le t < T.$$
(2.6)

Integrating this inequality from 0 to t, one obtains

$$\|u(t)\|_{H^s} \le \frac{\|u_0\|_{H^s}}{1 - C_s \|u_0\|_{H^s} t}$$

which implies that $||u(t)||_{H^s} < \infty$ if $C_s ||u_0||_{H^s} t < 1$. As a result, for $0 \le t \le T_0$, we have

$$\|u(t)\|_{H^s} \le \frac{\|u_0\|_{H^s}}{1 - C_s \|u_0\|_{H^s} T_0} = 2\|u_0\|_{H^s}.$$

It thus remains to prove the inequality (2.6). Note that the product uu_x only has the regularity of H^{s-1} when $u \in H^s$. To deal with this problem, we will consider the following modified equation:

$$(J_{\varepsilon}u)_t + J_{\varepsilon}(uu_x) = -\partial_x A^{-1} \left(b\mu_0 J_{\varepsilon}u + \frac{3-b}{2} J_{\varepsilon} \left(u_x^2 \right) \right), \quad t > 0, \quad x \in \mathbb{S}^1,$$

$$(2.7)$$

where $\varepsilon \in (0, 1]$ and

$$J_{\varepsilon}f(x) = J_{\varepsilon}(f)(x) = (j_{\varepsilon} \times f)(x)$$

is the Friedrichs mollifier with $j_{\varepsilon}(x) = \frac{1}{\varepsilon}j(\frac{x}{\varepsilon})$ for a C^{∞} function j(x). Let $\Lambda = (1 - \partial_x^2)^{1/2}$. Applying the operator Λ^s to (2.7), then multiplying the resulting equation by $\Lambda^s J_{\varepsilon} u$ and integrating with respect to $x \in \mathbb{S}^1$, we obtain

$$\frac{1}{2}\frac{\mathrm{d}}{\mathrm{d}t}\|J_{\varepsilon}u\|_{H^{s}}^{2} = -\left(\Lambda^{s}J_{\varepsilon}(uu_{x}), \Lambda^{s}J_{\varepsilon}u\right) - \left(\partial_{x}\Lambda^{s}A^{-1}\left(b\mu_{0}J_{\varepsilon}u + \frac{3-b}{2}J_{\varepsilon}(u_{x}^{2})\right), \Lambda^{s}J_{\varepsilon}u\right),$$
(2.8)

where

$$(f,g):=\int fg\mathrm{d}x$$

We will estimate the right-hand side of (2.8). First, we note that Λ^s and J_{ε} are commutative and that

 $(J_{\varepsilon}f,g) = (f, J_{\varepsilon}g), \quad \|J_{\varepsilon}u\|_{H^s} \le \|u\|_{H^s}.$ (2.9)

To estimate the first integral in the right-hand side of (2.8), we write it as follows:

$$\begin{split} \left(\Lambda^s J_{\varepsilon}(uu_x), \Lambda^s J_{\varepsilon}u\right) &= \left(J_{\varepsilon}\Lambda^s(uu_x), \Lambda^s J_{\varepsilon}u\right) = \left(\Lambda^s(uu_x), J_{\varepsilon}\Lambda^s J_{\varepsilon}u\right) \\ &= \left([\Lambda^s, u]u_x, J_{\varepsilon}\Lambda^s J_{\varepsilon}u\right) + (u\Lambda^s u_x, J_{\varepsilon}\Lambda^s J_{\varepsilon}u). \end{split}$$

Using [15, Lemma X1] and (2.9), we obtain

$$\|([\Lambda^s, u]u_x, J_{\varepsilon}\Lambda^s J_{\varepsilon}u)\| \le \|[\Lambda^s, u]u_x\|_2 \|J_{\varepsilon}\Lambda^s J_{\varepsilon}u\|_2 \le C_s \|u_x\|_{\infty} \|u\|_{H^s}^2,$$
(2.10)

where we have used the fact that $||u||_{H^s} = ||\Lambda^s u||_2$. Noting that, by [8, Lemma 2],

$$\left\| \left[J_{\varepsilon}, u \right] f_x \right\|_2 \le C \left\| u_x \right\|_{\infty} \left\| f \right\|_2,$$

and integrating by parts, we obtain

$$|(u\Lambda^{s}u_{x}, J_{\varepsilon}\Lambda^{s}J_{\varepsilon}u)| = |(J_{\varepsilon}u\Lambda^{s}u_{x}, \Lambda^{s}J_{\varepsilon}u)|$$

$$= |([J_{\varepsilon}, u] \partial_{x}\Lambda^{s}u, \Lambda^{s}J_{\varepsilon}u) + (uJ_{\varepsilon}\partial_{x}\Lambda^{s}u, \Lambda^{s}J_{\varepsilon}u)|$$

$$\leq ||[J_{\varepsilon}, u]\partial_{x}\Lambda^{s}u||_{2}||u||_{H^{s}} + \frac{1}{2}|(u_{x}\Lambda^{s}J_{\varepsilon}u, \Lambda^{s}J_{\varepsilon}u)|$$

$$\leq C_{s}||u_{x}||_{\infty}||u||_{H^{s}}^{2}.$$
(2.11)

From (2.10) and (2.11), we have

$$\left| \left(\Lambda^s J_{\varepsilon}(uu_x), \Lambda^s J_{\varepsilon} u \right) \right| \le C_s \|u_x\|_{\infty} \|u\|_{H^s}^2.$$

$$(2.12)$$

For the second integral in the right-hand side of (2.8), we note

$$\left| \left(\partial_x \Lambda^s A^{-1} \left(b \mu_0 J_{\varepsilon} u \right), \ \Lambda^s J_{\varepsilon} u \right) \right| \le C |\mu_0| \cdot \| A^{-1} \partial_x J_{\varepsilon} u \|_{H^s} \| u \|_{H^s}, \tag{2.13}$$

$$\left| \left(\partial_x \Lambda^s A^{-1} \left(\frac{3-b}{2} J_{\varepsilon}(u_x^2) \right), \ \Lambda^s J_{\varepsilon} u \right) \right| \le C \| A^{-1} \partial_x J_{\varepsilon}(u_x^2) \|_{H^s} \| u \|_{H^s}.$$

$$(2.14)$$

Since $\mu_0 = \mu(u)$, we have

$$|\mu_0| = \left| \int_{\mathbb{S}^1} u(x, t) \mathrm{d}x \right| \le \|u\|_2 \le \|u\|_{H^s}.$$
(2.15)

By (2.2) and (2.3), and using the Sobolev embedding theorem, we obtain

$$\begin{split} \|A^{-1}\partial_{x}J_{\varepsilon}u\|_{H^{s}} &\leq \|A^{-1}\partial_{x}u\|_{H^{s}} \leq \|A^{-1}\partial_{x}u\|_{2} + \|A^{-1}\partial_{x}^{2}u\|_{H^{s-1}} \\ &\leq 3\|u\|_{2} + \left\|u - \int u(x)dx\right\|_{H^{s-1}} \\ &\leq 3\|u\|_{2} + 2\|u\|_{H^{s-1}} \\ &\leq 5\|u\|_{H^{s-1}}, \end{split}$$
(2.16)
$$\|A^{-1}\partial_{x}J_{\varepsilon}(u_{x}^{2})\|_{H^{s}} &\leq \|A^{-1}\partial_{x}u_{x}^{2}\|_{H^{s}} \leq \|A^{-1}\partial_{x}u_{x}^{2}\|_{2} + \|A^{-1}\partial_{x}^{2}u_{x}^{2}\|_{H^{s-1}} \\ &\leq 3\|u_{x}\|_{2}^{2} + \left\|u_{x}^{2} - \int u_{x}^{2}(x)dx\right\|_{H^{s-1}} \\ &\leq 3\|u\|_{2}^{2} + 2\|u_{x}^{2}\|_{H^{s-1}} \\ &\leq 5\|u_{x}\|_{\infty}\|u\|_{H^{s}}. \end{aligned}$$
(2.17)

Using (2.12)-(2.17) in (2.8), we obtain

$$\frac{1}{2}\frac{\mathrm{d}}{\mathrm{d}t}\|J_{\varepsilon}u\|_{H^{s}}^{2} \leq C_{s}(\|u\|_{H^{s}}+\|u_{x}\|_{\infty})\|u\|_{H^{s}}^{2}.$$

Letting $\varepsilon \to 0$, we have

$$\frac{1}{2}\frac{\mathrm{d}}{\mathrm{d}t}\|u\|_{H^s}^2 \le C_s\big(\|u\|_{H^s} + \|u_x\|_\infty\big)\|u\|_{H^s}^2,$$

or

$$\frac{1}{2} \frac{\mathrm{d}}{\mathrm{d}t} \|u(t)\|_{H^s}^2 \le C_s \big(\|u\|_{H^s} + \|u\|_{C^1}\big) \|u(t)\|_{H^s}^2.$$
(2.18)

Since s > 3/2, by Sobolev's inequality,

$$\|u(t)\|_{C^1} \le C_s \|u(t)\|_{H^s},$$

and the desired inequality (2.6) follows.

3. Approximate solutions

In this section, following [8,9], we consider a two-parameter family of approximate solutions. We will first estimate the error of the approximate solutions in satisfying (2.1) in the H^{σ} -norm (1/2 < $\sigma \leq$ 1), and then, estimate the difference between the approximate solution and actual solution having the same initial data.

We consider approximate solutions of the form

$$u^{\omega,\lambda} = \omega\lambda^{-1} + \lambda^{-s}\cos(\lambda x - \omega t),$$

where $s \in \mathbb{R}$, ω is in a bounded set in \mathbb{R} and $\lambda = 2\pi z$ with $z \in \mathbb{Z}_+$. We note that $u^{\omega,\lambda} \in H^s$.

3.1. Error in satisfying (2.1)

Now, we estimate the H^{σ} -norm of the error of $u^{\omega,\lambda}$ is satisfying (2.1), which is given by

$$E = \left[u_t^{\omega,\lambda} + u^{\omega,\lambda}u_x^{\omega,\lambda}\right] + \partial_x A^{-1} \left(b\mu \left(u^{\omega,\lambda}\right) u^{\omega,\lambda} + \frac{3-b}{2} \left(u_x^{\omega,\lambda}\right)^2\right)$$
$$=: E_1 + E_2 + E_3.$$

A direct calculation shows that

$$E_1 := u_t^{\omega,\lambda} + u^{\omega,\lambda} u_x^{\omega,\lambda} = -\frac{1}{2}\lambda^{-2s+1}\sin 2(\lambda x - \omega t).$$

Using (2.2), we have

$$\begin{split} E_2 &:= b\mu(u^{\omega,\lambda})\partial_x A^{-1}u^{\omega,\lambda} \\ &= b\mu(u^{\omega,\lambda}) \left[\left(x - \frac{1}{2} \right) \int_0^1 u^{\omega,\lambda}(t,x) \mathrm{d}x - \int_0^x u^{\omega,\lambda}(t,y) \mathrm{d}y + \int_0^1 \int_0^x u^{\omega,\lambda}(t,y) \mathrm{d}y \mathrm{d}x \right] \\ &= b\lambda^{-s-1} \left[\omega\lambda^{-1} + \lambda^{-s-1}(\sin(\lambda - \omega t) + \sin(\omega t)) \right] \\ &\quad \times \left[\left(x - \frac{1}{2} \right) \left[\sin(\lambda - \omega t) + \sin(\omega t) \right] - \sin(\lambda x - \omega t) + \frac{\cos(\omega t) - \cos(\lambda - \omega t)}{\lambda} \right]; \\ E_3 &:= \frac{3-b}{2} \partial_x A^{-1}(u^{\omega,\lambda}_x)^2 \\ &= \frac{3-b}{2} \left[\left(x - \frac{1}{2} \right) \int_0^1 (u^{\omega,\lambda}_x(t,x))^2 \mathrm{d}x - \int_0^x (u^{\omega,\lambda}_x(t,y))^2 \mathrm{d}y + \int_0^1 \int_0^x (u^{\omega,\lambda}_x(t,y))^2 \mathrm{d}y \mathrm{d}x \right] \\ &= \frac{b-3}{4} \lambda^{-2s+1} \left[\left(x - \frac{1}{2} \right) \left[\sin(2\lambda - 2\omega t) + \sin(2\omega t) \right] - \sin(2\lambda x - 2\omega t) \right. \\ &\quad + \frac{\cos(2\omega t) - \cos(2\lambda - 2\omega t)}{2\lambda} \right]. \end{split}$$

Lemma 3.1. Let s > 3/2 and $\sigma \in (1/2, 1]$. When ω is in a bounded set in \mathbb{R} and $\lambda \gg 1$, we have

$$\|E\|_{H^{\sigma}} \lesssim \lambda^{-r_s} \tag{3.1}$$

for 0 < t < T, where $r_s = 2s - \sigma - 1 > 0$.

Proof. First, we recall from [9, Lemma 1] that

$$\|u^{\omega,\lambda}\|_{H^{\sigma}} = \|\omega\lambda^{-1} + \lambda^{-s}\cos(\lambda x - \omega t)\|_{H^{\sigma}} \lesssim \lambda^{-1} + \lambda^{-s+\sigma}$$

The following was also obtained in [9]:

$$||E_1(t)||_{H^{\sigma}} = \left\|\frac{1}{2}\lambda^{-2s+1}\sin 2(\lambda x - \omega t)\right\|_{H^{\sigma}} \lesssim \lambda^{-2s+1+\sigma}.$$

Finally, direct calculations show that

$$\begin{split} \|E_{2}(t)\|_{H^{\sigma}} &= \lambda^{-s-1} |b| |\omega\lambda^{-1} + \lambda^{-s-1} (\sin(\lambda - \omega t) + \sin(\omega t))| \\ &\times \left\| \left(x - \frac{1}{2} \right) \left[\sin(\lambda - \omega t) + \sin(\omega t) \right] - \sin(\lambda x - \omega t) + \frac{\cos(\omega t) - \cos(\lambda - \omega t)}{\lambda} \right\|_{H^{\sigma}} \\ &\lesssim \lambda^{-s-2} \left(\left\| x - \frac{1}{2} \right\|_{H^{\sigma}} + \|\sin(\lambda x - \omega t)\|_{H^{\sigma}} + \lambda^{-1} \right) \\ &\lesssim \lambda^{-s-2+\sigma}, \\ \|E_{3}(t)\|_{H^{\sigma}} &= \left| \frac{b-3}{4} \right| \lambda^{-2s+1} \left\| (x - 1/2) \left[\sin(2\lambda - 2\omega t) + \sin(2\omega t) \right] - \sin(2\lambda x - 2\omega t) \\ &+ \frac{\cos(2\omega t) - \cos(2\lambda - 2\omega t)}{2\lambda} \right\|_{H^{\sigma}} \\ &\lesssim \lambda^{-2s+1} \left(\|x - 1/2\|_{H^{\sigma}} + \|\sin(2\lambda x - 2\omega t)\|_{H^{\sigma}} + \lambda^{-1} \right) \\ &\lesssim \lambda^{-2s+1+\sigma}. \end{split}$$

3.2. Difference between approximate and actual solutions

We now estimate the difference between the approximate and actual solutions.

Let $u_{\omega,\lambda}(t,x)$ be the solution to (2.1) with initial data $u^{\omega,\lambda}(0,x)$, that is, $u_{\omega,\lambda}(t,x)$ satisfies

$$\begin{cases} \partial_t u_{\omega,\lambda} + u_{\omega,\lambda} \partial_x u_{\omega,\lambda} + \partial_x A^{-1} \left(b\mu(u_{\omega,\lambda}) u_{\omega,\lambda} + \frac{3-b}{2} (\partial_x u_{\omega,\lambda})^2 \right) = 0, \quad t > 0, \quad x \in \mathbb{S}^1, \\ u_{\omega,\lambda}(0,x) = u^{\omega,\lambda}(0,x) = \omega \lambda^{-1} + \lambda^{-s} \cos(\lambda x), \quad x \in \mathbb{S}^1. \end{cases}$$

$$(3.2)$$

Then, by Proposition 2.1, Lemma 2.1 and [9, Lemma 1], $u_{\omega,\lambda} \in C([0,T]; H^s)$ is the unique solution of (3.2) with

$$T \gtrsim \frac{1}{\|u_{\omega,\lambda}(0,x)\|_{H^s}} = \frac{1}{\|u_0^{\omega,\lambda}\|_{H^s}} \gtrsim \frac{1}{\lambda^{-1+1}} \gtrsim 1, \quad \lambda \gg 1.$$

To estimate the difference between the approximate and actual solutions, we let

$$v = u^{\omega,\lambda} - u_{\omega,\lambda}.$$

Then, for t > 0 and $x \in \mathbb{S}^1$, v satisfies

$$\begin{cases} v_t = E - \frac{1}{2} \partial_x \left[(u^{\omega,\lambda} + u_{\omega,\lambda})v \right] - \partial_x A^{-1} \left[b\mu(u_{\omega,\lambda})v + \frac{3-b}{2} \partial_x (u^{\omega,\lambda} + u_{\omega,\lambda})\partial_x v \right], \\ v(0,x) = 0. \end{cases}$$
(3.3)

We treat the cases b = 3 and $b \neq 3$ separately.

Lemma 3.2. Let b = 3. Let s > 3/2, $\sigma \in (1/2, s - 1]$, ω be in a bounded set in \mathbb{R} , and $\lambda \gg 1$. Then

$$\|v(t)\|_{H^{\sigma}} = \|u^{\omega,\lambda}(t) - u_{\omega,\lambda}(t)\|_{H^{\sigma}} \lesssim \lambda^{-r_s}$$
(3.4)

for $0 \le t < T$ where $r_s = 2s - 1 - \sigma > 0$.

Proof. Applying to both sides of (3.3) with b = 3 the operator Λ^{σ} , multiplying the resulting equation by $\Lambda^{\sigma} v$ and integrating, we obtain

$$\frac{1}{2} \frac{\mathrm{d}}{\mathrm{d}t} \|v(t)\|_{H^{\sigma}}^{2} = (\Lambda^{\sigma} E, \Lambda^{\sigma} v) - \frac{1}{2} \left(\Lambda^{\sigma} \partial_{x} \left[(u^{\omega, \lambda} + u_{\omega, \lambda}) v \right], \Lambda^{\sigma} v \right)
+ 3\mu(u_{\omega, \lambda}) \left(\Lambda^{\sigma} \partial_{x} A^{-1} v, \Lambda^{\sigma} v \right).$$
(3.5)

By the Cauchy–Schwarz inequality, we have

$$\left(\Lambda^{\sigma}E, \Lambda^{\sigma}v\right) \leq \|\Lambda^{\sigma}E\|_{2} \|\Lambda^{\sigma}v\|_{2} \leq \|E\|_{H^{\sigma}} \|v\|_{H^{\sigma}}.$$
(3.6)

Similarly to [9], for $3/2 < \rho \leq s$ and $\sigma + 1 \leq \rho$, one can show that

$$\left| \left(\Lambda^{\sigma} \partial_x [(u^{\omega,\lambda} + u_{\omega,\lambda})v], \Lambda^{\sigma} v \right) \right| \lesssim \left(\|\partial_x u^{\omega,\lambda}\|_{\infty} + \|\partial_x u_{\omega,\lambda}\|_{\infty} \right) \|v\|_{H^{\sigma}}^2 + \left(\|u^{\omega,\lambda}\|_{H^{\rho}} + \|u_{\omega,\lambda}\|_{H^{\rho}} \right) \|v\|_{H^{\sigma}}^2$$

$$\lesssim \left(\|u^{\omega,\lambda}\|_{H^{\rho}} + \|u_{\omega,\lambda}\|_{H^{\rho}} \right) \|v\|_{H^{\sigma}}^2. \tag{3.7}$$

By using (2.2) and the Cauchy–Schwarz inequality, we have

$$\begin{aligned} \left| \mu(u_{\omega,\lambda}) \left(\Lambda^{\sigma} \partial_{x} A^{-1} v, \Lambda^{\sigma} v \right) x \right| &= \left| \mu(u_{\omega,\lambda}(0)) \left(\Lambda^{\sigma} \partial_{x} A^{-1} v, \Lambda^{\sigma} v \right) x \right| \\ &\leq \left| \omega \lambda^{-1} + \lambda^{-s-1} \sin \lambda \right| \cdot \| \Lambda^{\sigma} \partial_{x} A^{-1} v \|_{2} \| \Lambda^{\sigma} v \|_{2} \\ &\lesssim \lambda^{-1} \| v \|_{H^{\sigma}} \left\| \left(x - \frac{1}{2} \right) \int_{0}^{1} v(x) \mathrm{d}x - \int_{0}^{x} v(y) \mathrm{d}y + \int_{0}^{1} \int_{0}^{x} v(y) \mathrm{d}y \mathrm{d}x \right\|_{H^{\sigma}} \\ &\lesssim \lambda^{-1} \| v \|_{H^{\sigma}} \left(\left\| x - \frac{1}{2} \right\|_{H^{\sigma}} \int_{0}^{1} |v(x)| \mathrm{d}x + \| v \|_{H^{\sigma-1}} + \int_{0}^{1} \int_{0}^{x} |v(y)| \mathrm{d}y \mathrm{d}x \right) \\ &\lesssim \lambda^{-1} \| v \|_{H^{\sigma}} . \end{aligned}$$

$$(3.8)$$

Substituting (3.6)–(3.8) into (3.5), we have

$$\frac{\mathrm{d}}{\mathrm{d}t} \|v(t)\|_{H^{\sigma}}^{2} \lesssim \left(\lambda^{-1} + \|u^{\omega,\lambda}\|_{H^{\rho}} + \|u_{\omega,\lambda}\|_{H^{\rho}}\right) \|v\|_{H^{\sigma}}^{2} + \|E\|_{H^{\sigma}} \|v\|_{H^{\sigma}}.$$

Noting that $||u^{\omega,\lambda}(t)||_{H^{\rho}} \lesssim \lambda^{-1} + \lambda^{\rho-s}$ for $3/2 < \rho < s$, and, by Lemma 2.1, that

$$\|u_{\omega,\lambda}(t)\|_{H^{\rho}} \lesssim \|u_{\omega,\lambda}(0)\|_{H^{\rho}} = \|u^{\omega,\lambda}(0)\|_{H^{\rho}} \lesssim \lambda^{-1} + \lambda^{\rho-s},$$

it follows from Lemma 3.1 that

$$\frac{\mathrm{d}}{\mathrm{d}t} \|v(t)\|_{H^{\sigma}}^2 \lesssim \left(\lambda^{-1} + \lambda^{\rho-s}\right) \|v\|_{H^{\sigma}}^2 + \lambda^{-r_s} \|v\|_{H^{\sigma}},$$

or

$$\frac{\mathrm{d}}{\mathrm{d}t} \|v(t)\|_{H^{\sigma}} \lesssim \|v\|_{H^{\sigma}} + \lambda^{-r_s}.$$
(3.9)

As v(0) = 0, solving the differential inequality (3.9), we obtain (3.4).

Now, we consider the case $b \neq 3$. In this case, the Eq. (3.5) will have an extra term:

$$I := -\frac{3-b}{2} \int \partial_x \Lambda^{\sigma} A^{-1} \left[\partial_x \left(u^{\omega,\lambda} + u_{\omega,\lambda} \right) \partial_x v \right] \cdot \Lambda^{\sigma} v \mathrm{d}x.$$
(3.10)

It is easy to see that

$$|I| \lesssim \left\| \partial_x A^{-1} \left[\partial_x (u^{\omega,\lambda} + u_{\omega,\lambda}) \partial_x v \right] \right\|_{H^{\sigma}} \|v(t)\|_{H^{\sigma}}.$$
(3.11)

By (2.2), we know that

$$\begin{aligned} \|\partial_x A^{-1} w\|_{H^{\sigma}} &= \left\| \left(x - \frac{1}{2} \right) \int_0^1 w(x) \mathrm{d}x - \int_0^x w(y) \mathrm{d}y + \int_0^1 \int_0^x w(y) \mathrm{d}y \mathrm{d}x \right\|_{H^{\sigma}} \\ &\lesssim \left(\left\| x - \frac{1}{2} \right\|_{H^{\sigma}} \int_0^1 |w(x)| \mathrm{d}x + \|w\|_{H^{\sigma-1}} + \int_0^1 \int_0^x |w(y)| \mathrm{d}y \mathrm{d}x \right), \end{aligned}$$
(3.12)

where $w = \partial_x (u^{\omega,\lambda} + u_{\omega,\lambda}) \partial_x v$. When 3/2 < s < 2, we are unable to show that $\int_0^1 |w(x)| dx$ is bounded. So, we shall limit the scope of s in the following result:

Lemma 3.3. Let $b \neq 3$. Let $s \geq 2$, ω be in a bounded set in \mathbb{R} , and $\lambda \gg 1$. Then

$$\|v(t)\|_{H^1} = \|u^{\omega,\lambda}(t) - u_{\omega,\lambda}(t)\|_{H^1} \lesssim \lambda^{-\theta_s}$$
(3.13)

for $0 \le t < T$ where $\theta_s = 2(s-1) > 0$.

Proof. In the proof of Lemma 3.2, if we take $\sigma = 1$, the Eq. (3.5) becomes

$$\frac{1}{2} \frac{\mathrm{d}}{\mathrm{d}t} \|v(t)\|_{H^1}^2 = (\Lambda E, \Lambda v) - \frac{1}{2} \left(\Lambda \partial_x \left[\left(u^{\omega, \lambda} + u_{\omega, \lambda} \right) v \right], \Lambda v \right) + 3\mu(u_{\omega, \lambda}) \left(\Lambda \partial_x A^{-1} v, \Lambda v \right) + I, \qquad (3.14)$$

where I is given by (3.10) with $\sigma = 1$. We will show that the estimates (3.6)–(3.8) with $\sigma = 1$ remain true. In (3.7), we take $\rho = 2$.

Now, we estimate $\int_0^1 |w(x)| dx$ and $||w||_2$ with $w = \partial_x (u^{\omega,\lambda} + u_{\omega,\lambda}) \partial_x v$. A direct calculation yields

$$\int_{0}^{1} |w(x)| dx = \int_{0}^{1} \left| \partial_{x} \left(u^{\omega,\lambda} + u_{\omega,\lambda} \right) \partial_{x} v \right| dx$$

$$\leq ||v||_{H^{1}} ||u^{\omega,\lambda} + u_{\omega,\lambda}||_{H^{1}}, \qquad (3.15)$$

$$||w||_{2} = \left(\int \left| \partial_{x} (u^{\omega,\lambda} + u_{\omega,\lambda}) \right|^{2} |\partial_{x} v|^{2} dx \right)^{1/2}$$

$$\leq \left(||\partial_{x} u^{\omega,\lambda}||_{\infty} + ||\partial_{x} u_{\omega,\lambda}||_{\infty} \right) ||v||_{H^{1}}$$

$$\leq \left(||u^{\omega,\lambda}||_{H^{2}} + ||u_{\omega,\lambda}||_{H^{2}} \right) ||v||_{H^{1}}. \qquad (3.16)$$

Substituting (3.12), (3.15) and (3.16) into (3.11), we have

$$|I| \lesssim \|v\|_{H^{1}}^{2} \left(\|u^{\omega,\lambda}\|_{H^{1}} + \|u_{\omega,\lambda}\|_{H^{1}} + \|u^{\omega,\lambda}\|_{H^{2}} + \|u_{\omega,\lambda}\|_{H^{2}} \right)$$

$$\lesssim \|v\|_{H^{1}}^{2} \left(\|u^{\omega,\lambda}\|_{H^{2}} + \|u_{\omega,\lambda}\|_{H^{2}} \right).$$
(3.17)

Applying (3.6)–(3.8) with $\sigma = 1$ and $\rho = 2$, and (3.17), it follows from (3.14) that

$$\frac{\mathrm{d}}{\mathrm{d}t} \|v(t)\|_{H^1}^2 \lesssim \left(\lambda^{-1} + \|u^{\omega,\lambda}\|_{H^2} + \|u_{\omega,\lambda}\|_{H^2}\right) \|v\|_{H^1}^2 + \|E\|_{H^1} \|v\|_{H^1}.$$
(3.18)

Similarly to the proof of Lemma 3.2,

$$\|u^{\omega,\lambda}(t)\|_{H^2} \lesssim \lambda^{-1} + \lambda^{2-s}, \qquad \|u_{\omega,\lambda}(t)\|_{H^2} \lesssim \lambda^{-1} + \lambda^{2-s}.$$

$$(3.19)$$

Noting that $s \ge 2$ and applying Lemma 3.1 with $\sigma = 1$, it follows from (3.18) and (3.19) that

$$\frac{\mathrm{d}}{\mathrm{d}t} \|v(t)\|_{H^1}^2 \lesssim \left(1 + \lambda^{-1}\right) \|v\|_{H^1}^2 + \lambda^{-2(s-1)} \|v\|_{H^1}.$$

The rest of the proof is the same as that of Lemma 3.2.

4. Non-uniform dependence

In this section, we prove our main result, namely,

Theorem 4.1. Let

 $\begin{cases} s > 3/2 & \text{ if } b = 3, \\ s \ge 2 & \text{ if } b \neq 3. \end{cases}$

Then, the data-to-solution map $u(0) \mapsto u(t)$ for (2.1) is not uniformly continuous from any bounded subset of H^s into $C([-T,T]; H^s)$. More precisely, there exist two sequences of solutions $u_{\lambda}(t)$ and $\tilde{u}_{\lambda}(t)$ to (2.1) in $C([-T,T]; H^s)$ such that

$$\|u_{\lambda}(t)\|_{H^{s}} + \|\tilde{u}_{\lambda}(t)\|_{H^{s}} \lesssim 1, \quad \lim_{\lambda \to \infty} \|u_{\lambda}(0) - \tilde{u}_{\lambda}(0)\|_{H^{s}} = 0,$$
(4.1)

and

$$\liminf_{\lambda \to \infty} \|u_{\lambda}(t) - \tilde{u}_{\lambda}(t)\|_{H^s} \gtrsim |\sin t|, \quad |t| < T \le 1.$$
(4.2)

Proof. Let $u_{\lambda}(t) = u_{1,\lambda}(t,x)$ and $\tilde{u}_{\lambda}(t) = u_{-1,\lambda}(t,x)$, where $u_{1,\lambda}(t,x)$ and $u_{-1,\lambda}(t,x)$ are the unique solution to the Cauchy problem (3.2) with initial data $u^{1,\lambda}(0,x)$ and $u^{-1,\lambda}(0,x)$, respectively.

By Proposition 2.1, these solutions lie in $C([0,T]; H^s)$. By Lemma 2.1, we know that the existence time T can be chosen to be independent of λ provided $\lambda \gg 1$. Moreover, for $0 \le t \le T_0$,

$$\|u_{\pm 1,\lambda}(t)\|_{H^s} \le 2\|u_{\pm 1,\lambda}(0)\|_{H^s} = 2\|u^{\pm 1,\lambda}(0)\|_{H^s}.$$

If λ is large enough and k > s - 1, then, by [9, Lemma 1],

$$|u^{\pm 1,\lambda}(t)||_{H^k} \lesssim \lambda^{-1} + \lambda^{k-s} \lesssim \lambda^{k-s}.$$

It follows that

$$||u_{\pm 1,\lambda}(t)||_{H^k} \lesssim \lambda^{k-s}, \quad \lambda \gg 1,$$

and

$$\|u^{\pm 1,\lambda}(t) - u_{\pm 1,\lambda}(t)\|_{H^k} \lesssim \lambda^{k-s}, \quad \lambda \gg 1.$$

$$(4.3)$$

We first consider the case b = 3. Lemma 3.2 implies that

$$\|u^{\pm 1,\lambda}(t) - u_{\pm 1,\lambda}(t)\|_{H^{\sigma}} \lesssim \lambda^{-r_s}, \quad \lambda \gg 1.$$

$$(4.4)$$

Now, applying the interpolation inequality

$$\|\varphi\|_{H^s} \le \|\varphi\|_{H^{s_1}}^{(s_2-s)/(s_2-s_1)} \|\varphi\|_{H^{s_2}}^{(s-s_1)/(s_2-s_1)}$$

with $s_1 = \sigma$ and $s_2 = 2s - \sigma = k$ and using (4.3) and (4.4), we get

$$\begin{aligned} \|u^{\pm 1,\lambda}(t) - u_{\pm 1,\lambda}(t)\|_{H^s} &\leq \left(\|u^{\pm 1,\lambda}(t) - u_{\pm 1,\lambda}(t)\|_{H^\sigma} \|u^{\pm 1,\lambda}(t) - u_{\pm 1,\lambda}(t)\|_{H^{2s-\sigma}}\right)^{1/2} \\ &\lesssim \left(\lambda^{-r_s}\lambda^{s-\sigma}\right)^{1/2} \lesssim \lambda^{-(s-1)/2}, \ \lambda \gg 1. \end{aligned}$$

Hence,

$$\|u^{\pm 1,\lambda}(t) - u_{\pm 1,\lambda}(t)\|_{H^s} \lesssim \lambda^{-\varepsilon_s}, \quad \lambda \gg 1,$$
(4.5)

where $\varepsilon_s = (s-1)/2$.

We can now prove (4.1) and (4.2). It follows from the definition of
$$u^{\omega,\lambda}$$
 that

$$||u_{1,\lambda}(0) - u_{-1,\lambda}(0)||_{H^s} = ||u^{1,\lambda}(0) - u^{-1,\lambda}(0)||_{H^s} = 2\lambda^{-1} \to 0 \text{ as } \lambda \to \infty,$$

which implies that (4.1) holds. Obviously,

$$\|u_{1,\lambda}(t) - u_{-1,\lambda}(t)\|_{H^s} \ge \|u^{1,\lambda}(t) - u^{-1,\lambda}(t)\|_{H^s} - \|u^{1,\lambda}(t) - u_{1,\lambda}(t)\|_{H^s} - \|u^{-1,\lambda}(t) - u_{-1,\lambda}(t)\|_{H^s}.$$

Vol. 64 (2013)

It follows from (4.5) that

$$||u_{1,\lambda}(t) - u_{-1,\lambda}(t)||_{H^s} \ge ||u^{1,\lambda}(t) - u^{-1,\lambda}(t)||_{H^s} - c\lambda^{-\varepsilon_s}, \quad \lambda \gg 1,$$

which implies that

$$\liminf_{\lambda \to \infty} \|u_{1,\lambda}(t) - u_{-1,\lambda}(t)\|_{H^s} \ge \liminf_{\lambda \to \infty} \|u^{1,\lambda}(t) - u^{-1,\lambda}(t)\|_{H^s}.$$
(4.6)

Using the identity

$$\cos \alpha - \cos \beta = -2\sin \frac{\alpha + \beta}{2}\sin \frac{\alpha - \beta}{2}$$

we obtain

$$u^{1,\lambda}(t) - u^{-1,\lambda}(t) = 2\lambda^{-1} + 2\lambda^{-s}\sin(\lambda x)\sin t.$$

Thus,

$$\|u^{1,\lambda}(t) - u^{-1,\lambda}(t)\|_{H^s} \ge 2\lambda^{-s} \|\sin(\lambda x)\|_{H^s} |\sin t| - 2\lambda^{-1} \|1\|_{H^s}$$

Letting $\lambda \to \infty$ in the above inequality, we have

$$\liminf_{\lambda \to \infty} \|u^{1,\lambda}(t) - u^{-1,\lambda}(t)\|_{H^s} \gtrsim |\sin t|.$$
(4.7)

Summing (4.6) and (4.7) yields (4.2).

Next, we consider the case $b \neq 3$. Lemma 3.3 implies that

$$\|u^{\pm 1,\lambda}(t) - u_{\pm 1,\lambda}(t)\|_{H^1} \lesssim \lambda^{-\theta_s}, \quad \lambda \gg 1.$$

$$(4.8)$$

Applying the interpolation inequality

$$\|\varphi\|_{H^s} \le \|\varphi\|_{H^{s_1}}^{(s_2-s_1)/(s_2-s_1)} \|\varphi\|_{H^{s_2}}^{(s-s_1)/(s_2-s_1)}$$

with $s_1 = 1$ and $s_2 = [s] + 2 = k$ and using (4.3) and (4.8), we get

$$\begin{split} \left\| u^{\pm 1,\lambda}(t) - u_{\pm 1,\lambda}(t) \right\|_{H^s} &\leq \left\| u^{\pm 1,\lambda}(t) - u_{\pm 1,\lambda}(t) \right\|_{H^1}^{(k-s)/(k-1)} \left\| u^{\pm 1,\lambda}(t) - u_{\pm 1,\lambda}(t) \right\|_{H^k}^{(s-1)/(k-1)} \\ &\lesssim \lambda^{-\theta_s(k-s)/(k-1)} \lambda^{(k-s)(s-1)/(k-1)} \\ &\lesssim \lambda^{-(\theta_s - s + 1)(k-s)/(k-1)}, \quad \lambda \gg 1. \end{split}$$

Hence,

$$\|u^{\pm 1,\lambda}(t) - u_{\pm 1,\lambda}(t)\|_{H^s} \lesssim \lambda^{-\epsilon_s}, \ \lambda \gg 1,$$

where $\epsilon_s = (s-1)(k-s)/(k-1)$. The rest of the proof is similar to the case b = 3. This completes the proof of the theorem.

References

- 1. Camassa, R., Holm, D.: An integrable shallow water equation with peaked solitons. Phys. Rev. Lett. 71, 1661–1664 (1993)
- Christ, M., Colliander, J., Tao, T.: Asymptotics, frequency modulation, and low regularity ill-posedness for canonical defocusing equations. Am. J. Math. 125, 1235–1293 (2003)
- 3. Constantin, A., Escher, J.: Well-posedness, global existence, and blowup phenomena for a periodic quasi-linear hyperbolic equation. Commun. Pure Appl. Math. 51, 475–504 (1998)
- Degasperis, A., Holm, D., Hone, A.: Integrable and non-integrable equations with peakons. In: Ablowitz, M., Boiti, M., Pempinelli, F., Prinari, B. (eds.) Nonlinear Physics: Theory and Experiment II, pp. 37–43. World Scientific, Singapore (2003)
- Degasperis, A., Procesi, M.: Asymptotic integrability. In: Degasperis, A., Gaeta, G. (eds.) Symmetry and Perturbation Theory. World Scientific, Singapore, pp. 23–37 (1999)
- Escher, J., Yin, Z.: Well-posedness, blow-up phenomena, and global solutions for the b-equation. J. Reine Angew. Math. 624, 51–80 (2008)

- Fu, Y., Liu, Y., Qu, C.: On the blow-up structure for the generalized periodic Camassa-Holm and Degasperis-Procesi equations. J. Funct. Anal. 262, 3125–3158 (2012)
- Himonas, A., Kenig, C.: Non-uniform dependence on initial data for the CH equation on the line. Differ. Integr. Equ. 22, 201–224 (2009)
- Himonas, A., Kenig, C., Misiołek, G.: Non-uniform dependence for the periodic CH equation. Commun. Partial Differ. Equ. 35, 1145–1162 (2010)
- Himonas, A., Misiołek, G.: High-frequency smooth solutions and well-posedness of the Camassa–Holm equation. Int. Math. Res. Not. 2005, 3135–3151 (2005)
- Holm, D.M. Staley: Nonlinear balance and exchange of stability in dynamics of solitons, peakons, ramps/cliffs and leftons in a 1+1 nonlinear evolutionary PDE. Phys. Lett. A 308(1), 437–444 (2003)
- 12. Hunter, J., Saxton, R.: Dynamics of director fields. SIAM J. Appl. Math. 51, 1498–1521 (1991)
- 13. Karapetyan, D.: Non-uniform dependence and well-posedness for the hyperelastic rod equation. J. Differ. Equ. 249, 796–826 (2010)
- 14. Kato, T.: On the Korteweg-de Vries equation. Manuscr. Math. 28, 89-99 (1979)
- Kato, T., Ponce, G.: Communitator estimates and the Euler and Navier-Stokes equations. Commun. Pure Appl. Math. 41, 891–907 (1988)
- Kenig, C., Ponce, G., Vega, L.: On the ill-posedness of some canonical dispersive equations. Duke Math. J. 106, 617– 633 (2001)
- Khesin, B., Lenells, J., Misiołek, G.: Generalized Hunter–Saxton equation and the geometry of the group of circle diffeomorphisms. Math. Ann. 342, 617–656 (2008)
- Koch, H., Tzvetkov, N.: Nonlinear wave interactions for the Benjamin–Ono equation. Int. Math. Res. Not. 2005, 1833– 1847 (2005)
- 19. Kohlmann, M.: The periodic μ b-equation and Euler equations on the circle. J. Nonlinear Math. Phys. 18, 1–8 (2011)
- Lenells, J., Misiołek, G., Tiğlay, F.: Integrable evolution equations on spaces for tensor densities and their peakon solutions. Commun. Math. Phys. 299, 129–161 (2010)
- Li, Y.: Nonuniform dependence for the Cauchy problem of the general b-equation. J. Math. Phys. 52, 033101, 14 pp. (2011)
- Li, Y., Olver, P.: Well-posedness and blow-up solutions for an integrable nonlinearly dispersive model wave equation.
 J. Differ. Equ. 162, 27–63 (2000)
- 23. Lv, G., Wang, M.: Blow-up solutions of the general b-equation. J. Math. Phys. 51, 123101 (2010)
- 24. Yin, Z.: On the structure of solutions to the periodic Hunter-Saxton equation. SIAM J. Math. Anal. 36, 272-283 (2004)
- Zhang, S., Yin, Z.: Global solutions and blow-up phenomena for the periodic b-equation. J. Lond. Math. Soc. 30, 1– 19 (2010)

Guangying Lv College of Mathematics and Information Science Henan University Kaifeng 475001 People's Republic of China

Guangying Lv Institute of Contemporary Mathematics Henan University Kaifeng 475001 People's Republic of China

Peter Y. H. Pang Department of Mathematics National University of Singapore Singapore 119076 Republic of Singapore email: matpyh@nus.edu.sg

Mingxin Wang Natural Science Research Center Harbin Institute of Technology Harbin 150080 People's Republic of China

(Received: September 3, 2012; revised: January 16, 2013)